(AIHAlH G I7} ME F2 HAWA)

1. XI2AHE HA
- 2014.4 24X} 22| EHEIRITIA| HH|AldH| F=4AH
(Hd|AfAHH] 2Hx 0 613,970,895,499% — HHZA 619,024,582,297H)

o
T
2
-%
Ral
U
x
ot
=4
L

S BN HE= B2
101= 45 =gt 6 =&t
105,106 45 =t 25 &=t
Lh) igdds - 5. 28gy wy ) d8AMdis HA(S 94M(th)
T Szl HA= H 2 (EH)
1228 4 M|cH - —4 (MHAH|)
1208 12 My 5 AlcH -7
109 69 AllCH 38 AllcH -31
Hof
;54 1018 9 AlcH 6 AlCH -3
848 691 MICH 590 A|cH -101
59%4 875 MicH 1080 AIcH +205
| 1,660 AlCH 1,719 McH +59
109 25 M|CH - -25 (T AHH|)
843 24 M|CH 31 AlcH +7
At | 73y 48 MiH 50 AlcH +2
?é;; < 59%4 96 AllCH 126 AllCH +30
Mzes | 49 136 AllCH 143 M|cH +7
33 269 A|cH 283 A|CH +14
| 598 A|cH 633 A|CH +35
A 2,258 A|cH 2,352 AM|cH +94




Ch) FoiszIAAd #HZE
& HAX HAZ B2 (SZ)
ZHE| AR A 294 .62 337.82m +43.20
A=t 256.57m 799.02m +542.45
FOZSA|AM 5,225.02m 2.697.26m" -2 ,527.76
Ao Azt 297 .70 m 667.88m +370.18
HEAIM 411 .91 1,058.03m’ +646.12
X 408 .46 543 .25 +134.79
Ad| Al 116.64m 136.23m’ +19.59
o{2lo|=0lH 2,508.58m" 2,697 .26m +188.68
Fol2SA|M 1,692.03m: 1,678.81m: -13.22
eI M EA| A 8,695.83m* 7,808.09m* -887.74
2l) = HEfBH Ao w2 FxtA = HY
T& HAM HAZ H| D (SZ)
i -17,260.29
FRHEMHE X 106,372.08m’ 89,111.79m* o
(X|5t4Z AtH|)
el gt 2,255 CH 2,259 CH +4
ESPN
A gl 87 i 86 Ci 1
S
04 A 264 C 265 CH +1
A 2,606 CH 2,610 CH +4
% ZEIMEA|M FXHE S
A 72 HE
- EERIAIGAIGICIZ I ZRE 6071 — HA AIPAIMHAITIUZEE 6071




